XI & & ® F

1 FREERERESTARRTEOM#R
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FAS A e <% ;_?_\- % ﬁi —?E

AR A ey [ mE [kE|EE|TE[AE|HE
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#% # 483 1 482 0 101 267 114 — —
i1 HE 51 5 46 0 4 25 17 — —
b ZINA 60,549 926 59,623 0 5071 44866 9,686 — —
23 & &
% 54 124 1 123 — 7 104 12 — —
i1 HE 25 0 25 — 7 15 3 — —
XIRIEE 55,465 338 55,127 — 40461 13,300 1,366 — —
24 & &
laa = 198 1 197 — 77 78 42 - -
1] Ui 56 0 56 — 12 9 35 — —
XIREE 28,858 25 28,833 — 14,157 8384 6,292 - -
25 & &
laa # 86 1 85 — 10 38 37 - -
1] Ui 14 0 14 — 0 2 12 — —
XIREE 11,265 31 11,234 — 638 5529 5067 - -
26 £ &
#% ¥ 129 — 129 — 42 2 85 — —
[ i 19 — 19 — 4 0 15 — —
XIRESE 13,730 — 13,730 — 2,723 1,439 9,568 — —
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2 HFHRKKEERROHER

(B mEiEha, £5TH)

= 4 | @ m ‘ AN B X BARK S
fzER| zIES | AOK | KA | ZDf| BT | Zofth| & B
224
"% 20 1 - 3 - - 5
m 7 - - 0 - - 7
wWEEEl 7999 77 - - 137 88 - - 7,697
234
% 39 11 3 1 5 3 - - 16
m 6 2 0 0 0 0 - - 4
WEEE| 5210 405 226 306 599 291 - - 3,383
244
% 16 - - 1 - - 8
m 1 - - 0 - - 1
RERE 383 4 - - 87 - - 256
254
% 14 9 - - 1 1 - - 3
m 4 3 - - 0 0o - - 1
=gl 3773 1327 - - - - 2,446
264
" % 14 8 - - 3 1 - - 2
m R 2 1 - - 0 1 - - 0
HEH 2685 487 - - 116 1,530 - - 552
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22 0 0 0 0 22,168 0 0 0 49
23 0 0 0 0 20,837 0 0 0 29
24 0 0 0 0 22807 0 0 0 45
25 0 0 0 0 22435 0 0 0 47
26 0 0 0 0 20,325 0 0 0 48
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(BAf: [ HE ha, &, #HE m°)

o HT PUESUE TN *
A (LA BHITA

ha ha ha . N m?
23 # 5,908 0 5 3914 980
EEBRMEHBA — — — — —
WHBHEH — — — — —
AR EHBR 29 — — 2,000 40
TR — — — — —
. m 28 — — 2,000 40
A 1 — — — —
IARHEHR 4,166 — — — 700
(IT =+ 4,166 — — — 700
Bh RF — — — — —
EMRMEBR 6 — — 757 —
FEHH 6 — — 757 —
EMmm — — — — —
LB/ NEFER T — — — — —
TR MERAT 2 — — — —
TE™ 2 — — — —
RABMKEHBHR 473 — 1 642 50
kMM 473 — 1 642 50
HREMEHRT 1,232 — 4 515 190
F o 1,232 — 4 515 190
fa] 2 HET — — — — —

BXPRAT 1R = (R fBIBRRR + 45 Il £ 21 BRBR + BT AE 4%
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